Sr Questions Answers Choice

15%
1 A trader mixes 26kg of rice at rs. 20 per kg with 30kg of rice of other variety at Rs. 36 per kg 10%

and sell is the mixture at Rs. 30 per kg. His profit percent is:

2 if the product of two number is 10& their sum is 7, then the larger of the two numbers is

Rs. 235<br>
Rs. 275<br>
Rs. 225<br>
Rs. 215<br>

3 Cost of 2 1/2 dozen of eggs is Rs.75. Find the cost of 7 1/2 dozen eggs.

38.5
68.5
48.5
78.5

4 A train covers 727.50 km distance in 15 hours. how much distance train covers in one hours:

Rs. 1550<br>
Rs 4550<br>
Rs. 3550<br>
Rs.2550

5 Annual rent of house is Rs. 54600. Find its monthly rent?

Rs. 35.3<br>
Rs. 25.5<br>
Rs. 45.5<br><br>
Rs. 55.5<br>

6 Cost of 50 kg sugar is Rs. 1275. Find the cost of 1 kg sugar.

Rs.10000<br>
Rs. 20000

Rs. 30000<br>
Rs. 40000<br>

7 Sana saves Rs. 2500 per month. How much she saves in one years:

. Rs. 16000<br>
Rs. 17000<br>
Rs.18000<br><br>
Rs. 19000<br><br>

8 Fatima receives Rs. 1500 as house rent per month. How much she will receive for one year:

64%
80%
94%
. 15%

9 Akbar sold his old gun for Rs.900. Which he bought for 2500, His loss his:
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10 The number, Whose 20% is 150, is?



